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 : (1)     . 
  (2) -I      . 
 

 – I 
1.  (A)       . 10 
 (B)   .          . 

  8000    .       : 10 
     ` 
     (8000  ` 15 )  1,20,000 
    (` 5 )  40,000 
      35,000   
         20   17   

   .       :    
     (7150  ` 15  ) 
    ` 5 ,  ` 26,500. 
     :  
  (i)   (ii)     
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2.   . .   A  B   . 2020      

      :  20  
   

 A() B() 
 2000 5600 
 2400 5600 

 3200 4800 
 4000 4000 

 4800 3200 
 4800 3200 

 4000 3600 
      :  
 (1)          .  
 (2)             50  

   . ( 2019 ) 
 31   2020           :    

  A  B 
  25000 30000 
   (`) 15 20 
  (`) 5 10 
   (`)  75,000 1,20,000 

        : 
 (1)         
 (2)   2020          
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3.           . 2020-21    
  15000  .     14400     
    .  :  20 

         ` 
    89,100 
     1,34,100 
      2,18,250 
      1,17,000 
     6,68,250 
      ` 4.50        ` 7.50 .  

      : 
 

 
  

` 
  

` 
  –– 900 
  –– 1800 
  2,250 –– 
  –– 6,750 
   9,000 –– 
    –– 11,250 
   –– 4,500 
  20,250 –– 

    :  
 (1)     
 (2)      
 (3)        
 
4.  (A)              

 .  2020     ` 1,00,000   .   
    .      .      : 10 

  (1)      0.4 
  (2)      ` 6,000 
  (3)     ` 8,000   
            ?  
             ` 38,000  

          ? 
 (B)          .  10  
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 – II 
5.     : (  ) 10 
  (1)        ?  
   (a)   (b)   
    (c)   (d)     
  (2)    _______   . 
   (a)    (b)   
   (c)     (d)   
  (3)   _______ . 
   (a)   (b)   
   (c)  (d)     
  (4)       _______. 
   (a) C < (I – P) L (b) C < (P – I) L 
   (c) C = (I – P) L  (d)     
  (5) _______             . 
   (a)   (b)   
   (c)    (d)   
  (6)          _______   .  
   (a)    (b)    
   (c)     (d)   
 (7)   500 ,     ` 15    

  ` 12,     ________. 
   (a) – 7500 (b)  – 6000 
   (c)  + 7500 (d) + 6000 
  (8)        ?  
   (a)    (b)    
   (c)    (d)   
  (9)   = _______. 
   (a)   –   
   (b)   –   
   (c)   –   
   (d)     
  (10)     _______  . 
   (a)   (b)   
   (c)    (d)     

_______________ 
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Seat No. : _______________
  MJ-113 

May-2022 
M.Com., Sem.-III 

504(EA) : Management Accounting – I  
 Time : 2 Hours]  [Max. Marks : 50 

 

Instructions : (1) All questions carry equal marks. 
   (2) Attempt any Two questions from Section – I. 
 

SECTION – I 
1.  (A) Explain the limitations of Management Accounting and financial accounting. 10 
 (B) The following figures are available with reference to a four week period of 

working in Anjani Co. Ltd. While budgeted to the manufacture 8000 units of its 
product other estimated details are as under : 10 

     ` 
  Production and sales (8000 units at ` 15)  1,20,000 
  Variable cost (at ` 5)  40,000 
  Profit   35,000   
  On account of an external power line failure resulting from damage due to storm, 

production for 17 days out of 20 days was done and the actual results were as 
follows :    

  Production and sales (7150 units at ` 15 each) 
  Variable cost at ` 5 each  
  Profit at ` 26,500  
  Calculate and explain :  
  (i) Traditional variances and (ii) Planning and operational variances.  
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2. The Ganesh Co. Ltd. manufactures two products A and B. An estimate of the number of 
units expected to be sold in the first seven months of 2020 is given below :  20  

Month Product 
 A(Units) B(Units) 

January 2000 5600 
February 2400 5600 

March 3200 4800 
April 4000 4000 
May 4800 3200 
June 4800 3200 
July 4000 3600 

 It is anticipated that :  
 (1) There will be no work in progress product at the end of any month, and  
 (2) Finished units equal to 50% of the anticipated sales for the next month will be in 

stock at the end of each month. (including December 2019) 
 The budgeted production and production costs for the year ending on 31st December, 

2020 are as follows :    
Particulars Product 

 A B 
Production (units) 25000 30000 
Direct material per unit (`) 15 20 
Direct wages (per unit) (`) 5 10 
Production Overheads (direct) (`) 75,000 1,20,000 
(apportioned to each unit of product)   

 You are required to prepare : 
 (1) A production budget showing the number of units to be manufactured each month. 
 (2) A summarized production cost budget for the six months period from January to 

June 2020.   
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3.  Saumil Manufacturing Co. Ltd. manufactures a standard product. Budgeted production 
for the year 2020-21, was 15000 units. While actual production was 14400 units. For 
the same year financial results were as under :  20 

         ` 
 Direct materials   89,100 
 Direct labour   1,34,100 
 Variable overheads  2,18,250 
 Fixed overheads  1,17,000 
 Sales    6,68,250 
 Standard direct labour rate is ` 4.50 per hour and standard variable overhead rate is                

` 7.50 per hour. The variances are as below from the cost records : 
Particulars 

 
Favourable 

Variance 
` 

Unfavourable 
Variance 

` 
Material price –– 900 
Material usage –– 1800 
Wage rate 2,250 –– 
Labour efficiency –– 6,750 
Variable overheads  9,000 –– 
Variable overhead efficiency –– 11,250 
Fixed overheads –– 4,500 
Selling price 20,250 –– 

  Prepare :  
 (1) A statement showing original budget.  
 (2) A statement of standard cost per unit. 
 (3) A statement showing reconciliation of budgeted profit and actual profit.  
 
4.  (A) The production manager of a company is facing a problem of reducing adverse 

labour cost variance. The reported amount of adverse labour cost variance for the 
month of March 2020, stands at ` 1,00,000. Your advice is sought as to whether 
this variance needs to be investigated. The available information is as follows : 10 

  (1) Probability of variance being controllable 0.4 
  (2) Cost of investigation of Variance  ` 6,000 
  (3) Cost of correction  ` 8,000   
  Determine the minimum expected benefits from investigation to justify the 

investigation process. According to one estimate, the expected benefit before 
considering the cost of correction is likely to be ` 38,000. If so, determine the 
probability of control in regard to this variance.    

 (B) Discuss the problems, which are to be considered while investigating and 
interpreting variances.  10  
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SECTION – II 
5. Select correct option from given choices : (any five) 10 
  (1) Which method is not of Management Accounting ?  
   (a) Operating Costing (b) Marginal Costing 
    (c) Standard Costing (d) None of these 
  (2) Financial accounting is concerned with _______. 
   (a) External financial reporting (b) Future 
   (c)  Technique of cost control  (d) All of the above  
  (3) Appropriation budgets are _______. 
   (a) Zero base budgets (b)  Flexible budgets 
   (c) Fixed budgets (d) None of the above  
  (4) State cost benefit analysis model in investigation of variance. 
   (a) C < (I – P) L (b) C < (P – I) L 
   (c) C = (I – P) L  (d) None of these  
 (5) _______ is based on premise that every rupee of expenditure requires 

justification.   
   (a) Appraisal budgeting (b) Performance budgeting 
   (c) Zero based budgeting (d) Programme budgeting 
 (6) Standard quantities per unit of production for direct labour are normally 

determined by  
   (a) The marketing department (b) The personnel department 
   (c)  The account department  (d) All of the above 
 (7) Idle time is 500 hours, standard labour rate per hour is ` 15 and actual labour rate 

per hour is ` 12, then find out idle time variance. 
   (a) – 7500 (b)  – 6000 
   (c)  + 7500 (d) + 6000 
  (8) Which is not cost-variances investigation model ?  
   (a) Graphical model  (b) Cost benefit model 
   (c) Control chart model (d) All of the above  
  (9) Operating variance = _______. 
   (a) Revised Standards – Actual Results  
   (b) Original Standards – Revised Standards  
   (c) Original Standards – Actual Results 
   (d) None of these 
  (10) As per Indian Companies Act _______ is compulsory.  
   (a) Cost Accounting (b) Management Accounting 
   (c)  Financial Accounting  (d) None of these  

_______________ 
 


